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2A: HSE
. YA MAY SHANE SH(2L2Z/HF)
Selr i MAR= 2435} (S &)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
OdflYdI A E= XX BIX| 0t
110,000 *3F x2 23| 1,320
301 LBBNZ 220 200 20
11 HAAHIXIE S 220 200 20
Oofldd ws & MEHAL AKX 312
11,0002 x10H »23| 220
HHMAER N 2 60,000 60,000 0
307 212+01™ 60,000 60,000
05 QIZtRIErZ 60,000 60,000
O0= OtelAZ 29 60,000
oz LMAUNMIIP XEHT 12
350,000 *50H 17,500
osELMHXMIIT REHS 22
250,000 +90% 22,500
oaMOIHTEQR X1
200,000 100X 20,000
YA MAE= N ZIZ ) (MSAIY) 260,000 261,120 A1,120
= 130,000
Al 130,000
307 212+01 A 260,000 260,000 0
& 130,000
Al 130,000
02 QIZtAAAIEE R 260,000 260,000 0
ONYYHAZE HE Z2I2 2 X
260,000,000& * 14! 260,000
& 130,000
Al 130,000
O MAZ= CH3 HE 425,000 450,000 A25,000
= 140,000
Al 285,000
HEHMEY M=2LEWS 100,000 100,000 0
& 20,000
Al 80,000
307 212+01 A 100,000 100,000 0
& 20,000
Al 80,000
04 QIZHHAIAIE E X 100,000 100,000 0
ON=4dt &= RENS
100,000,000 12| 100,000
T 20,000
Al 80,000
O M= oHYdIMAE= (i3 125,000 150,000 A25,000
= 20,000
Al 105,000




S SR
. YA MAY SHANE SH(2L2Z/HF)
Sl HYAHAES 43l JHa (crel: =)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
307 2I2+0l™ 125,000 150,000 A25,000
& 20,000
Al 105,000
04 QUIZHHAIAISE B X 125,000 150,000 225,000
Ot A= LA MAZ= 13
125,000,000& *13] 125,000
& 20,000
Al 105,000
gofietd =MREUS 200,000 200,000 0
T 100,000
Al 100,000
307 212+01™ 200,000 200,000 0
& 100,000
Al 100,000
04 QIZIHAIAISE B X 200,000 200,000 0
Odgaliotd =MRLEUS]
200,000,000 *12| 200,000
& 100,000
Al 100,000
XIEIbsst o1orae| (2 /o) 385,286 867,514 148,278
= 12,060
Al 373,226
ot XN 279,826 699,644 A419,818
HAOHAHI ALY 279,826 399,644 A119,818
101 2124 d| 37,038 35,700 1,338
M IIRINZ2EXSEs 37,038 35,700 1,338
Oasssliel Ald=2el & 343 37,038
SRuE 40, 1202 2B +x222 * 123 21,184
oFsd 40,1203 2B+4 2L« 12F 3,852
oclxtg 40,1202+ 2B 1L+ 11 883
oMEtz PN
3,840 x2H <27 x 128 2,489
ocggzz2sd
40, 120 *2H x 152 *150% 1,806
SYNEIISE= N 3,323,240 * 14| 3,324
SISESE=S) 3,500,000& * 14 3,500
201 L2 AH| 29,908 31,064 A1,156
01 AtR2teltl 1,908 1,064 844
Oget=2H| 1,908
oASESCiel B&E0Is SHHEE P
2,400 6001 = 123 1,728
oASESiel HEl0l=0IAIE et™ 22|
A u=s 100,000 12| 100




SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
ocAiss=sliel JIZ2tHZ22A EA444
&y 20,0003 42| 80
02 232gH4| 28,000 30,000 A2,000
OO Al HHl L HEALES &7
28,000,000 & 14| 28,000
202 0id| 2,880 2,880
01 =LHO4b] 2,880 2,880
SLIPVEER-E
20,0003 3B *43|« 12 2,880
401 A& HIL S 0HY| 210,000 330,000 A120,000
01 Al&HI 208,200 326,976 A118,776
Odliettla A2 &4
100,000,000&%99. 10/100 99,100
Ogot A2 Fdl
100,000,000&+99. 10/100 99,100
OEE= 230 fotEz otz AX|
SAE 10,000,000 * 14! 10,000
03 Al CHYI 1,800 3,024 A1,224
Odliettla A2 &4
100,000,000 *0.90/100 900
Ogot A2 Edl
100,000,000& *0.90/100 900
E 243t 78,620 141,570 A62,950
& 12,060
Al 66,560
HEMEFL0IE MR2E ME K& 40,220 91,650 A51,430
= 12,060
Al 28,160
307 212+01 A 40,220 91,650 A51,430
& 12,060
Al 28,160
02 QIZHAAAIEE R 40,220 91,650 A51,430
OHENEZFL0IES MR2E 28 X
1,675,800&x2Z =128 40,220
& 12,060
Al 28,160
HENEF20E 28 XA 38,400 49,920 A11,520
202 0441 2,400 1,920 480
01 =2LHO4] 2,400 1,920 480
OEMEFL0E 228 K& 3L
20,0003 =2H x5+ 12& 2,400
307 212+01 A 36,000 48,000 212,000
02 QIZHBAAIHE R 36,000 48,000 212,000
OHENEZL0IS NEE ==cldl XA
9,000,000 *47H 2~ 36,000
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